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J6 36 ' 36
28 29 a1 32
26 28 29 29
Perfarm a two way ANOVA om the data given above,
1. Compute Fishers idenl index number from the following data -
Commodity Base period Current period
Prige Expenditure Price Expenditure
A 2 40 b Th
B 1 16 8 40
L& 1 10 2 24
n G 25 10 60
32, Caleulate the seasonal mndex from the following data using the simple average method
[ Yeor | 1% Quamter | 24 quanes 3 Quarter | 4% Quarter |
1859 72 : GE 50 T0
2000 76 70 82 74
2001 74 G6 B4 B0
2002 76 74 84 8
2003 1 78 T4 86 B2

(2% 10 = 20 mark
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